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Prototype NaPb

AFLOW prototype label AB tI64 142 ef g-001

ICSD 105156

Pearson symbol tI64

Space group number 142

Space group symbol I41/acd

AFLOW prototype command aflow --proto=AB_tI64_142_ef_g-001

--params=a, c/a, x1, x2, x3, y3, z3

Other compounds with this structure
CsPb, CsSn, KPb, KSn, RbPb, RbSn

• (Marsh, 1953) describe the structure in the first setting of space group I41/acd #142. We used FINDSYM to translate
this into the standard second setting.
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2c ẑ (16e) Na I

B4 = −
(
x1 − 1

4

)
a1 + 1

4 a2 −(
x1 − 1

2

)
a3

= 1
4a x̂− a

(
x1 − 1

4

)
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2c ẑ (16e) Na I

B8 =
(
x1 + 3

4

)
a1 + 3

4 a2 +
(
x1 + 1

2

)
a3 = 1

4a x̂ + a
(
x1 + 1

4

)
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8c ẑ (16f) Na II

B16 =
(
x2 + 7

8

)
a1−

(
x2 − 5

8

)
a2 + 1

4 a3 = −ax2 x̂ + a
(
x2 + 1

4

)
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ŷ − cz3 ẑ (32g) Pb I

B27 = − (x3 + z3) a1 +(
y3 − z3 + 1

2

)
a2 − (x3 − y3) a3

= a
(
y3 + 1

4

)
x̂− a

(
x3 + 1

4

)
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